

Telephone: Showgrounds: 96 22 1540

Secretary: 0421259391 Fax: 96 22 1540 P.O. Box 226, NORTHAM, 6401 Email: <u>noragsoc@iinet.net.au</u>

ABN 44 613 671 251

NORTHAM AGRICULTURAL SOCIETY ANNUAL SHOW EQUESTRIAN EVENTS AFFILLIATED WITH EWA AND RAS SATURDAY 9th September 2023 ENTRY TO OVAL IS AT NORTHY ST – GATE- OFF EAST STREET -OPEN 7am

OPEN HACK AND PONY EVENTS

Show Jumping

Breed Halter

OFF the TRACK- Horses

Closing Date
FOR ALL ENTRIES- Friday 4th September 2023
NO HAY PERMITTED ON GROUNDS

FEATURE EVENT - 6 BAR PONY AND HORSE







NO HAY PERMITTED ON GROUND

ENTRIES CLOSE Friday 4th September 2023

CONDITIONS OF ENTRY

NO HAY PERMITTED ON SHOWGROUNDS

PLEASE READ THE FOLLOWING BEFORE SUBMITTING YOUR ENTRIES.

REGULATIONS & BY-LAWS. Regulations and by-Laws for the governing of the Annual Show, which are subject to any alteration that the Committee may deem advisable, may be inspected prior to the first day of the show at the Secretary's office on the grounds. These Regulations & By-Laws are to govern the fixture, together with the uniform by-Laws of the Royal Agricultural Society Act, 1926.

SOCIETY'S LIABILITIES. The Society will <u>not</u> be responsible for any accident that may be caused through or by any exhibitor, and it shall be a condition of entry that each exhibitor shall hold the Society blameless and indemnified against any legal proceedings arising from any such accident.

PROTESTS: Must be lodged within one hour after the event with a deposit of \$50.00 to the Chief Steward which shall be forfeited to the Society if the protest on due consideration be deemed unfounded or frivolous.

DANGEROUS & DISEASED EXHIBITS. Should the council have any reason to suspect that any exhibit is dangerous or objectionable, it may have same removed from or refused admission to the grounds The Committee reserves the right to refuse or accept conditionally any entry without assigning any reasons.

PROGRAMME. The Committee reserves the right to alter or amend this program in any way it sees fit without giving prior warning. Classes may be combined or split at the Committee's or Judges discretion. All rings will be running concurrently so competitors are advised to bear this in mind when submitting entries.

REFUNDS. Non-participation in an event will NOT warrant a refund of entry moneys- Entry moneys will only be refunded minus a \$5.00 administration fee if the request is accompanied by a Vet's Certificate or a Doctor's Certificate dated within 14 days prior to the show.

- JUDGES. THE JUDGES DECISION IS FINAL IN ALL CASES. <u>Judges are NOT to be approached under any circumstances by any competitor or spectator</u>. Classes will NOT be held up for late arrivals except at the discretion of the judge.
- * ENTRIES: All exhibits MUST BE ENTERED under the registered E.W.A./HC name and in the name of the registered owner/leasee. A copy of HEIGHT REGISTRATION CERTIFICATE PAPERS must accompany ALL entries.

GROUND ENTRY:

SATURDAY- (Complete Agricultural Show). One FREE entry per horse GROUND FEE of \$5. 00 PER HORSE to be paid on entry form Only vehicles conveying exhibits admitted to grounds. Grounds open 7.00am

Entry Forms must be received by the Secretary at PO Box 99 York 6302 by 4th SEPTEMBER 2023-Email Entries to: msbritza@bigpond.com (Performance) Breed Entries to: emily@powderbarkstud.com.au 0402848253

PLEASE INCLUDE BANK REFERENCES IF EMAILING

Northam Show Equestrian Co-ordinator- Sue Britza

Mobile: 0429461392 Email: msbritza@bigpond.com

Breed Ring Co-ordinator – Emily Sheridan emily@powderbarkstud.com.au 0402848253

NORTHAM AGRICULTURAL SOCIETY ANNUAL SHOW

SATURDAY 9th September 2023

OPEN HACKS AND SENIOR RIDERS

Entry Fee \$50.00 per horse

Ground Fee: \$5.00 per horse

Entries Close 5pm, 4th September 2023

8.30am START ARMBANDS: \$10.00 refundable (.Please have cash)

JUDGE: TBC

8.30am Start

				am Sta
Class	Event	1 st	2 nd	3 rd
A1	Rider 18 years and Over-Walk & Trot(Not eligible for other rider	\$10.00	\$5.00	\$2.0
	events)			
A2	Rider 18 Years and Under 21 Years	\$10.00	\$5.00	\$2.0
A3	Rider 21 Years and Including 30 Years	\$10.00	\$5.00	\$2.0
A4	Rider over 30 Years	\$10.00	\$5.00	\$2.0
	Champion Rider (Class A2-A4)			
	Reserve Champion Rider (Class A2-A4)			
A5	Galloway over 14h up to and inc 14.2h	\$10.00	\$5.00	\$2.0
A6	Galloway over 14.2h –15h	\$10.00	\$5.00	\$2.0
A7	Hack over 15h -16h	\$10.00	\$5.00	\$2.0
A8	Hack over 16h	\$10.00	\$5.00	\$2.0
A9	Lightweight Galloway over 14h – 15h	\$10.00	\$5.00	\$2.0
A10	Heavyweight Galloway over 14h – 15h	\$10.00	\$5.00	\$2.0
A11	Lightweight Hack over 15h -16hh	\$10.00	\$5.00	\$2.0
A12	Heavyweight Hack over 15h-16hh	\$10.00	\$5.00	\$2.0
A13	Large Hack over 16hh	\$10.00	\$5.00	\$2.0
A14	Show Hunter Hack14h-15h	\$10.00	\$5.00	\$2.0
A15	Show Hunter Hack over 15h	\$10.00	\$5.00	\$2.0
A16	Ladies Hack	\$10.00	\$5.00	\$2.0
A17	Gents Hack	\$10.00	\$5.00	\$2.0
A18	Pleasure Hack	\$10.00	\$5.00	\$2.0
A19	"OFF THE TRACK" Open to any thoroughbred up to 15.2hh			
A20	"OFF THE TRACK" Open to any thoroughbred over 15.2hh			
A21	"OFF THE TRACK" Open to any standard bred			
	Champion and Reserve Champion Hack (Events			
	7,8,11,12,13,16,17)			
	Champion and Reserve Champion Galloway (Events			
	5,6,9,10,16,17)			
	Champion and Reserve Show Hunter (Events 14,15)			

NO HAY PERMITTED ON GROUND

DISCLAIMER FORMS MUST BE COMPLETED AND DULY SIGNED ALL NOMINATIONS MUST BE ACCOMPANIED BY COMPLETED FORMS AND FEES

NO HAY PERMITTED ON GROUND

PONY HACKS AND RIDER EVENTS

Entry Fee: \$50.00 per horse

LED, NOVICE AND RDA Rider events ONLY = \$10

Ground Fee: \$5.00 per horse

ARMBANDS: \$10.00 refundable- Please have cash

Entries Close 5pm, 4th September 2023

-Judge: TBC

Class	Event	1 st	2 nd	3 rd
B 1	Leading rein Rider (Rider not eligible for other rider events)	\$10	\$5.00	\$2.00
B2	Lead rein – Pony Hack – 14hh and under (Rider not eligible for other	\$10	\$5.00	\$2.00
	Hack events)			
B3	Novice Rider 9 Years and under-(walk & trot only, not eligible for	\$10	\$5.00	\$2.00
	any other rider event)			
B4	Novice Rider 10-12 Years-(walk & trot only, not eligible for any	\$10	\$5.00	\$2.00
	other rider event)			
B5	Novice Rider 13-17 years-(walk & trot only, not eligible for any	\$10	\$5.00	\$2.00
	other rider event)			
B6	RDA Rider	\$10	\$5.00	\$2.00
B 7	RDA Horse	\$10	\$5.00	\$2.00
B8	Local Rider – (To reside in the Shire of Northam)	\$10	\$5.00	\$2.00
B9	Rider 9 years and under	\$10	\$5.00	\$2.00
B10	Rider 10 - 12 years	\$10	\$5.00	\$2.00
B11	Rider 13 - 17 years	\$10	\$5.00	\$2.00
	Champion Rider (Events 9,10,11)			
	Reserve Champion Rider (Events 9,10,11)			
B12	Pony Hack 12.2h and under	\$10	\$5.00	\$2.00
B13	Pony Hack over 12.2h up to and inc 13h	\$10	\$5.00	\$2.00
B14	Pony Hack over 13h up to and inc 14h	\$10	\$5.00	\$2.00
B15	Lightweight Pony Hack 14h and under	\$10	\$5.00	\$2.00
B16	Medium/Heavyweight Pony Hack 14h and under	\$10	\$5.00	\$2.00
B17	Child's pony 14h and under	\$10	\$5.00	\$2.00
B18	Pleasure Pony	\$10	\$5.00	\$2.00
B19	Show Hunter Pony 14h and under	\$10	\$5.00	\$2.00
	Champion and Reserve Champion Pony (Events 12,13,14,15,16,19)			

NO HAY PERMITTED ON GROUND

SHOWJUMPING

Affiliated with the EA Entry Closes 4th September 2023

LATE ENTRIES INCUR A FEE OF \$10

Entries must be submitted on the entry form

The Northam Agricultural Society shall retain the rights to delete or alter events at its discretion Classes run under EWA/Agricultural Society rules

ALL RIDERS TO COMPLETE DISCALIMER FORMS PRIOR TO RIDING AND MUST PRODUCE A CURRENT EWA/PCWA membership and or a Day membership of the Northam Agricultural Society 2022

EA LEVIES: \$4 per horse/rider (Max \$24) Ground Fee: \$5.00 per horse

Maximum of 3 classes per horse per day PLUS SIX BAR

All rings will be running concurrently so competitors are advised to bear this in mind when submitting entries.

Start Time 9.00am

No	Entry	Class Type	1 st	2 nd	3 rd	4 th	5th
	Fee						
J1	\$10	60cm AM7 (Art.245.3-238.2.2)	\$25	\$20	\$15	\$10	\$5
J2	\$10	70cm Table C (Art 239)One round only	\$25	\$20	\$15	\$10	\$5
J3	\$10	80cm AM7 (Art.245.3-238.2.2)	\$30	\$20	\$15	\$10	\$5
J4	\$10	90cm A2 (Art 238.2.1) One round only	\$30	\$20	\$15	\$10	\$5
J5	\$15	1m 2 Phase (Art 274.2.5) One round only	\$50	\$30	\$20	\$10	\$5
J6	\$15	1.05m AM7 (Art.245.3-238.2.2)	\$50	\$30	\$20	\$10	\$5
J7	\$15	1.10m Table C (Art 239) One round only	\$70	\$50	\$30	\$20	\$10
J8	\$20	1.15m AM7 (Art.245.3-238.2.2)	\$90	\$70	\$50	\$30	\$20
J9	\$25	1.20m AM7 (Art.245.3-238.2.2) Subject	\$120	\$90	\$70	\$50	\$40
		to entries					
J11	\$15	Six Bar- Ponies-Art262.3	\$50	\$30	\$20	\$10	\$5
J12	\$15	Six Bar- Horses-Art 262.3	\$80	\$60	\$40	\$30	\$20

Off The Track awards for showjumping

If emailing entries—please include Bank references

DISCLAIMER FORMS MUST BE COMPLETED AND DULY SIGNED

NO HAY PERMITTED ON GROUND

NORTHAM AGRICULTURAL SOCIETY SHOW

For all inquiries contact: Sue Britza 0429461392- Email: msbritza@bigpond.com Hacking & Show Jumning Entry Form -PLEASE PRINT CLEARLY

			ALLOWED ON (EARL I		
NAME (OF EXHIBITOR	R		TEL NO			
Email: _		th September 202		P/C			
Please N	Note: Height Ce	(OTT) Please providertificates may be received. Passport number-Fo	quired by the Ju		ers		
CLASS	NG AND RIDI		HORSES NAME		HEIGHT	ENTRY FEE	
CLASS	OH HIL TRACK	RIDERS IVAIVIE	HORSES IVAIVIE		IILIGITI	LIVIRTILL	
					TOTAL HACKING FEES		
				EA SHOWJUMPING CLA	LEVY \$4 per SS MAX \$24		
				TOTAL SHOWJUM	PING FEES		
		ERENCE WITH ENT	<u>rry</u>				
Showju	SHOW amping only LEVIES @ DAY MEMBERS	HACKING FEES JUMPING FEES @\$4/class Max \$24 SHIP (If required)	1. Eq 2. No Da	indicate membership: uestrian WAl rtham Agricultural So y member \$20 (Circle rsonal Insurance	PCWA_ciety - Full M	 lember or	
	TOTAL ENT	TRY FEES		"OFF THE T	TRACK"		
BSB :		ount Number: 10199	1	assport Number			
Email I	Entries to: <u>msb</u>	Agricultural Society ritza@bigpond.com ference if emailed	Entry N	Entry forms Completed to, P.O. Box 99, York, 6302 by the 4th September 2023. OR-=			
	ALL BANKING ENTRIES MUST HAVE REFERENCE OF "Your Name" + Equestrian			Entries: msbritza@b		99730	

Include Bank Reference TO: 066524-10199730

DISCLAIMER FORM MUST BE COMPLETED by ALL ENTERANCE OF HACKING AND BREED and SHOWJUMPING

Phone E Contact in case of em	mail address	Mobile. Phone	
Name of Guardian (if I agree to abide by the rul	funder 18 years)	gricultural Society Inc. and the Eq	uestrian Australia (2023) whilst on the d all activities officiated by the Northam
Show and consent to him causing death, injury, disa Northam Agricultural Shovolunteers. medical perso EVENT(S) shall be under participant for whom I and driver, passenger, attenda Northam Agricultural Shows.	her/me participating. In doing ability and property damage do ow that neither the Northam Agnnel. any persons, promoters, so any liability for either my death responsible or for any injury, nt or any other participant for you	so, I acknowledge that Equestrian occur, I acknowledge and agree a ricultural Society Inc., its officials ponsors, advertisers, nor owners of h or the death of any rider, driver, loss or damage which may be sustwhom I am responsible, as a result	of this document and have taken all participate at the 2023 Northam Agricultura activities are dangerous and that accidents is a condition of participating at the 2023 is, employees and agents, participants, or lessees of premises used to conduct the passenger, attendant or any other ained or occurred by me or any rider, of participation in or being present at the er together with the Rules & Regulations by
Name:(Print)		Signature:	
Dated this:	day of	2023	
Australia Ltd including al the children under my car	ll its state bodies, coaches and a re, suffering injury or death.	ffiliated clubs, to the greatest exte	elease of all liability the Equestrian ent allowed by law in the event of me and/or
PARTICIPANTS 17 Before signing this discla	7 YEARS OF AGE and Umer, please read Rules & Regu CONSENT for EXHIBITORS PARTICIPANT	J NDER . Ilations in the schedule. , RIDERS, DRIVERS, PASSENG S 17 YEARS OF AGE and UNDI	GERS, ATTENDANTS and ANY OTHER ER. ame
Signed	Date	2023	
		s ALL competitors/Ric	lers competing at this e either as members of

Equestrian WA, PCWA, Northam Agricultural Society OR personal indemnity **Insurance.**—See Entry Form

All Banking Details as follows: BSB: 066524 Account Number: 10199730

Cheques to: Northam Agricultural Society—OR--Email entries to: msbritza@bigpond.com

Include Bank Reference on your entry

ALL BANKING ENTRIES MUST HAVE REFERENCE OF "YourName" + Equestrian

BREED SECTION

Coordinator:

(BREED CLASSES TO COMMENCE AFTER THE COMPLETION N OF THE SHOW HORSE CLASSES - APPROXIMATELY 1.00PM)

ENTRIES CLOSE 4TH September 2023

ENQUIRIES: Emily Sheridan

emily@powderbarkstud.com.au 0402848253

DISCLAIMER FORMS MUST BE COMPLETED AND SIGNED

ALL CLASSES- \$10 Plus GROUND FEE (\$5)

Rules and Regulations -

- 1. No children under 18 years can show or handle a colt or stallion
- 2. Current registration and membership MUST be provided with entries.
- 3. Handlers must be correctly attired to the breed societies standards

Ring 1 PONIES

ENTRIES CLOSE Friday 3rd September 2021

Opening Class: Di Norman memorial BEST PRESENTED EXHIBIT PONY 14HH AND UNDER To be judged by <u>both</u> ring Judges Prior to class 1 commencing

OPEN PONY 14HH & UNDER

- 1. GELDING ANY AGE
- 2. STALLION OR COLT ANY AGE

CHAMPION & RESERVE CHAMPION

- 3. MARE 4YRS & OVER
- 4. FILLY 3YRS & UNDER

CHAMPION & RESERVE CHAMPION

WELSH A & B

- 5. STALLION OR COLT ANY AGE
- 6. MARE OR FILLY ANY AGE
- 7. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

WELSH C & D

- 8. STALLION/COLT ANY AGE
- 9. MARE/FILLY ANY AGE
- 10. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

PART WELSH

- 11. STALLION/COLTANY AGE
- 12.. MARE/FILLY ANY AGE
- 13. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

MINIATURE

- 14. STALLION/COLT ANY AGE
- 15. MARE/FILLY ANY AGE
- 16. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

APSB

- 17. STALLION/COLT ANY AGE
- 18. MARE/FILLY ANY AGE
- 19. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

ANY OTHER REGISTERED PONY

- 20. STALLION/COLT ANY AGE
- 21. MARE/FILLY ANY AGE
- 22. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

NO HAY PERMITTED ON GROUND Emily Sheridan

emily@powderbarkstud.com.au 0402848253

BREED SECTION

RING 2 HORSES

ENTRIES CLOSE 4TH September 2023

Opening Class: Di Norman memorial BEST PRESENTED EXHIBIT HORSE OVER 14HH To be judged by both ring Judges prior to class 23 commencing

OPEN HORSE OVER 14HH

- 23. STALLION/COLT ANY AGE
- 24. GELDING ANY AGE
 CHAMPION & RESERVE CHAMPION
- 25. MARE 4 YRS & OVER
- 26. FILLY 3 YRS & UNDER
- CHAMPION & RESERVE CHAMPION

PINTO

- 27. STALLION/COLT ANY AGE
- 28. MARE/FILLY ANY AGE
- 29. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

ARABIAN PURE BRED

- 30. STALLION/COLT ANY AGE
- 31. MARE/FILLY ANY AGE
- 32. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

ARABIAN DERIVATIVE

- 33. STALLION/COLT ANY AGE
- 34. MARE/FILLY ANY AGE
- 35. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

THOROUGHBRED

- 36. STALLION/COLT ANY AGE
- 37. MARE/FILLY ANY AGE
- 38. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

STANDARDBRED

- 39. STALLION/COLT ANY AGE
- 40. MARE/FILLY ANY AGE
- 41. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

AUSTRALIAN STOCK HORSE

- 42 STALLION/COLT ANY AGE
- 43 MARE/FILLY ANY AGE
- 44 GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

ANY OTHER REGISTERED HORSE

- 45. STALLION/COLT ANY AGE
- 46. MARE/FILLY ANY AGE
- 47. GLEDING ANY AGE

CHAMPION & RESERVE CHAMPION

ANY UNREGISTERED HORSE/PONY BREED

- 48. STALLION/COLT ANY AGE
- 49. MARE/FILLY ANY AGE
- 50. GELDING ANY AGE

CHAMPION & RESERVE CHAMPION

SUPREME BREED EXHIBIT

Supreme Breed Garland donated by Pencader Pony Stud (Di Warner)

DISCLAIMER FORMS MUST BE COMPLETED AND DULY SIGNED

Breed Coordinator: Emily Sheridan emily@powderbarkstud.com.au 0402848253

BREED Entry Form -PLEASE PRINT CLEARLY

NAME OF EXHIBITOR				TEL NO				
,	ADDRESS P/C							
F	ADDKESS	ENTRIES CLOS	SF	4TH Sente	ember 20			
		ENTRIES CEO) L	. 4111 Бери		125		
l		NO ENTRY!	• ,					
	Note. All entries to have photocopy of ALL registrations including passports for OTT horses CLASS NAME OF HORSE RIDER EXHIBITOR REG NO, FEE						FEE	
_		TWINE OF HORSE	10.	DER LANIBI	OK	REGIO,	ILL	
			G	round Fee S	\$5.00			
			pe	er horse		,		
			T	OTAL ENTR	RY FEES •	 		
		orms must be sent to: P.O. Box 9	-		Off the Tay	ack Passport l	Viven la ou	
	Y ork,	6302 by the 4th September 2023. OR Emailed to	•		On the m	ick rassport	Nullibel	
		ON Emineu to						
	emily@	powderbarkstud.com.au						
II		ng Details as follows: BSB: 066		4 Account N	umber: 1019	99730		
		to: Northam Agricultural Society ries to: Include BSB Payment De		S				
11	ALL BANKING ENTRIES MUST HAVE REFERENCE OF "YourName" + Equestrian							
CONDITION OF ENTRY								
1	/we	do h		•	*			
		onform and be bound by the By-Laws						
	Agricultural Society Show & make these entries subject to By-Laws & the Uniform By-Laws made under the Royal Agricultural Society 1926							
		Ţ.		.	2.4		2022	
>	signature		• • • • • •	1	Date		2023	
(If under 18	yrs must be signed by Parent / Guardi	an)					